
PART- III 
<S��uSlwoo / CHEMISTRY 

( tl>uSlW LD!QIDJLO �IB.JctlQ) ru� / Tamil & English Versions) 

cg PHELP : 3 LQQiff} ] 
T�)Allowed : 3 Hours ] 

[ GLOrr�� LDf6h.JGU61ffir8iGIT : 150 
[Maximum Marks : 150 

c�HOlJ».,1m IT : (1) � 6l5> 6oT � � '5>51 m rr 85 8i (§ LO 5 rfhu rr 8i u � 6lJ rr ctl � GIT GIT� rr 6r 6irr u � 6l5> 6oT
5 rrl u rr IT�� 85 Q 85 rr GIT GIT ai LO . � B= 8i-u u � '5>51 m ® 6l5> !I) � ® u � 6irr
�6l5>!1)85850085rrGtfluurrmrrlLLD gLL6oflq-llJrT85� Q�rrl'5>51858i6l.jl.D.

(2) /BQ)LO �Q)Q)� 8:i(!!)Ll� 6l5)L0�6l5)6of LDL(E\cgLD 6r@�6l.1�!D®LD,
� lq-85cg8i rrtq-(E\ 6l.1�!D®LD u llJ 6irru (El�� cg6l.1 oo(El LO. u LffiJ 8:iGIT 6l.16l5>1J"6l.1:$ !D®
Q u 6irr §1-ru u llJ 6irru ® ��Q.j l.D.

Instrµctions : (1) Check the question paper for fairness of printing. If there is any lack of 
fairness, inform the Hall Supervisor immediately. 

(2) Use Black or Blue ink to write and underline and pencil to draw diagrams.

Draw diagrams and write equations wherever necessary. 

en5)u4 : (i) 
(ii) 

LI®f.51- I/PART- I 
�mm�� '5>51 mrr 858:i (§85@) LO '5>516l5> '7-lLI Gt-fl 858:iQ.j LD. 
crrrl llJ rrm '5>516l5> L6l5> llJ� cg� ITJBG�(b\�� 61"@�8:i. 

(i) Answer all the questions.
(ii) Choose and write the correct answer.

( � ) 3d ru rrl 6l5>5 

The incomplete transition series is 

(a) 3d series (b) 4d series ( c) 6d series

30x1=30 

(d) 5d series
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2. 616iu-pt (NH3)iC12  �8"> UUJ6irru®�!D�-

( �) 8",61IT �arurr8"> l]>(§Brffi@) l.DrT!!)!l)I
( �) Gc9=UJ!!)66)8", (gc9=rru1-1_

(@) cg�@nruu5\ru6Drr ®WJ8">Llq-8">(@J)c$@) 61""� rTU)®If>�
(FF) U)@n!DLI Lj8l 8">rTIJ"� 
Cis-pt (NH3)iC12 is used as : 
(a) Antidote for heavy metal poisoning
(b) Synthetic detergent
( c) Anti tumour drug
( d) Masking agent

P· l}"rru�(g6cITrr6iu - ffi }BIJ"rT!D U@58l(§LO(gurr� �@nLLJU@nGLJ 6T"@nGLJ ? 

( �) 8r8lal}"rr<oru, o°oUl}"c$aLrrGru, Q)rTB;LaLrr<oru 

( �) ®®8la8">rr6ru, o0oUIJ"8l(gLrrGru, 8">rrQ)a;{:gLrrOO 

(@) o0oUIJ"85(gLrrGru, rurra;L(gLrrGru, 8">rrQ)ffi{:gLrrGru 

( FF) LDrrru{:gLrrGiu,, Q)rTd,L(gLrrOO, 8rd>(gl]"rrOO 
What are· the products obtained during hydrolysis of Raffinose ? 
(a) Sucrose, Fructose, Lactose
(b) Glucose, Fructose, Galactose

, (c) Fructose, Lactose, Galactose 
( d) Maltose, Lactose, Sucrose

4. 61""� mfl@n�UJ �ill6irr ?
,, ( �) ��ro1GM ( �) 66)Ll.5166)61ITQ) �ill6m" 

(@) FFnl 66)6lrnfUJ 1.51 � L._66) LQ) � LO 6m" ( FF) e!f)6lS1@n6lrnfll..-! 1.51 � LQf> LQ) � IJ)6?5f 

5. 

Which of the following is a s�condary amine ? 
(a) Aniline (b) Diphenylamine
(c) Secondary butyl amine (d) Tertiary butyl amine

�ri- �WJ6lS1ru �@m 6r6D85LIJ"rr�6irr �!D!Dru E11 =
· 

2 4 2 2 

( �)  4-rr me 
( ) _ 2-rr me

n2h2 � n2h2 (@) -

The energy of electron in an atom is given by E11 = 

(a) (b) (c) 

2-rr2 me4 .'

n2h2

2-rr2 me4 

n2h2

(FF) 
2-rrme4 

n2h2

2,rme4 

(d) 
n 21;l 
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6. XeOF 4 e!J)6U8l&.pS1ru [LGTT61l @6m8lc66UL.JL..j :

3 

(�) sp3 (�) sp3d2 (@) sp3d 
The hybridisation in XeOF 4 molecule is
(a) sp� (b) sp3d2 (c) sp3d

7. u rTJfi�66>6lIT@ c6GTT ____ 6151 ®Jfi� � rf) �Q�@8lc6 u u@$l 6?IT!D 6lIT .
( �) @l(gLOrr6lf>6lITL ( �) aLOrr6lIT6'6>6L 
(@ ) LO rr 8l 6lIT 66> LL ( FF) c6rGrol L L6'6> IJ" L 
Lanthanides are extracted from : 
(a) Limonite
(c) Magnetite

(b) Monazite
( d) Cassiterite

s. �wc9,a;rroou6lIT6)JfDWJGTT 6T� @!Dtnd>!D a51rLOL.b ?
(�) Na2CuC14 (�) Na2CdI4
(@) K4[Fe(CN)6] (FF) K3[Fe(CN)6] 
Which of the following compound is not coloured ? 
(a) Na2CuCl4 (b) Na2Cdl4
(c) K4[Fe(CN)6] (d) K3[Fe(CN)6]

9. @516l5)6ITT(g6)J c6 LO rT!!) pS1 uEl errrrru �® 6616lO 6lITt616?IT a6)J a; L.b ��a; ifl u u 6ID� � Gm"G)J ® ili 6f Jfi�
c6rTIJ"� B=rf1turrc6 &.WJ$l!D� ?
( �) 6)Jtq-6)J�6l0� a�1rJfiQ�@��ru ( �) �a;Gfft6?rr [LC!96)J61l6LJ
(@) c6Llq-6UrT �!!)!!)Q) ��B;rf)��Q) ( FF) $l61TIT6LJ!!)!D �!!)!!)6U @)6'6>!!)�Q)
Which one is the correct factor that explains the increase of rate of reaction by a 
catalyst? 
(a) Shape selectivity (b) Particle size
(c) Increase of free energy (d) Lowering of activation energy

1 O. 8is1.W LO U)® Jfi� c6GTT L.& a;6LJ L.b u tu errw18lc6 c6 rrr 6Wf LD : 
( � ) � 6lf> 6)J � UJ � LO tu rr 6lIT 6lf> 6)J 
( �) � ru !D 6lf> !D 6f Gfft� ru 5 llJ rrrf1c9>c66U rrL.b 
(@) a� rru..t 6ml1"Lrr $@) LD $) ® uSl c$6l5) 61T 6f Gfft � Q) c$ 6)J ®� Q) 
( FF} 6TG'ffl�ru [Lc:_c$6)JIJ"I.JUL@ uruL! c$6)..IIJ"Uu@£l!D� 
Colloidal medicines are more effective because 
(a) They are clean
(b) They are easy to prepare
(c) They attract germs more easily
(d) They are easily assimilated and adsorbed
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11. �83 Lq-QD6lrr@8i6016irr Q u rr � GlJ rr 6lIT �83Gro1 �(]6lIT!!) !D [bl QDQ) :

(�) +1 (�) +2 (@) +6
The most common oxidation state of Actinides is:
(a) + 1 (b) + 2 (c) + 6

(r-r-) +4 

(d) +4 

12. @)JTu5l GnS16irr � u51 ru, 8i rrlJ Q 8i rrm QD8i u5l 6irru tq-, r-Ffb IT 8im :
( �) JB@�QDQ)� f!>66T6l5>LO�QDLllJ� ( �) �u51ru� fJj66TQDLO�QDLllJ� 

(i) BiJrl]"� fl>66TQDLO�QDLllJ� (r-r-) r-r-iflllJQ)Lj� fJj�QDL0�6l5>LllJ� 
According to Lewis concept of acids and bases ethers are : 
(a) Neutral (b) Acidic
(c) Basic (d) Amphoteric

13. 8r83(]1]"rr61ru @>�83(]8iff8rl.O, a°oLIIJ83(]Lrr8rLO �6l5)6m"838il.JULLq-(!9LIU� :

14. 

(�)cl -C
l (9b) cl -C2 (@) cl -C4 (r-r-) cl -c6 

Sucrose contains glucose and fructose linked  by : 
( a) cl -cl (b) cl -C2 ( C) C1 -C4

POs ;= PCl3 + Cl2 
(g) (g) (g) 6f6m!!) 8=L0Jbl6l5)Q) GlS)QD6lITL6)Q)

� 6iff(]6lITrr 83@> GlSl QD 6lIT 83@> a=rr fb8i LO rr 8i � QD LOGl.J � : 
{ �). PC1

5-6irr Qa=n5lQDGl.l ��8irft uu� 
{ �) Cl

2-6hr Qa=n5lQDGl.l ��8irfluu� 

( i ) Cl2-6irr Q a= .o5) GlSl ru LO rr!i) !I) u51 ru QD ru 
( r-r-) Cl2-6irr Qa=.o5)QD<ol.l @>QD!!)LJU�. 

. . . . PCls � PC13 + Cl2For the Equilibrium (g) (g) (g) 

the factor that favours the reverse reaction is :
(a) Increase in concentrati�:m of PCI

5

(b) Increase in concentration of Cl
2

( c) No change in concentration of q
2

( d) Decrease in concentration of CI
2

I 
I 

15. ! t16lrrrrru 61Gl.l u�6irr pH 6fQ)QDQ) : 

(�) 6.8 - 8.4 (�) 4.4 - 6.2 
i pH range of phenol red is : 
I 

: (a) 6.8 - 8.4 (b) 4.4 - 6.2

[�] 

(@) 3.1 - 4.4 

(c) 3.1 - 4.4

{ r-r-) 8.3 - 10 

(d) 8.3 - 10
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16. �� 66)Ltuaa:rr cqbc$85Q) 6lS)66)6nft6)Q) r-r-{b)ULrT� ?

( �) m - Q LrT@)l t6) �6lrr ( cqb) �6?rr16616irr

(@) p - �u5la6Nrr�6NrTQ) (11-) Qu6irr6l5>6Q)�U)6lff 
Which of the following will not undergo diazotisation? 
(a) m- toluidiene (b) aniline
(c) p - amino phenol (d) benzyl amine

17. � u GYl) 85 LLq-GU rr cqb!D ,ID 661 ru GJ!D u (b\ L.O LO rr!b ,ID LO :

(�) aG=AH+TAS (cq1,) AG=AH-TAS 

(@) AG=AHxTAS (11-) aL0!!)8in.!]5ltu ��6lju5l6U66)GU 
Change in Gibb's free energy is given by 
(a) AG=AH+TAS (b) AG=AH-TAS
( c) AG= AH x T AS ( d) None of the above

18. �fe� �66)6NLJGurr®�a;® 66)L ���6b 11-�rr 856b">IJULirr6mrr85u utu6irru(b\$l,ID� ?

( �) �6.irrGYl) 6lS16m6NLJGLJrr@m ( cq1,) GU6?rrLrr6irr 6))\6m6NLJGurr@m

(@ ) Lrr GU 6irr GYl) 6))\ 66) 6<STLJ Q u rr@GTT
Diethyl ether is used as a solvent for:
(a) Lucas reagent
( c) Tollen' s reagent

19. 6.i�rr�a:ara;85rr6m 6.irrlJ"6m"L.O :

( � ) f5166)6\)�� � rua; LIJ" rr 6irr � 615) LO u Lf

( cqb) f5'6mGU�� �L..85@

(@) f5'6mGUULf� �6lIT6mLOlU!!),(!) �L...85@

(b) Fen�on' s reagent
( d) Grignard reagent

( 11-) f5'66)GULJLj� �6i51"6mLOlU!!),(!) �Q)c$L.IJ"rT6lIT �6ll)LOLJj 
Radioactivity is due to: 
( a) Stable electronic configuration
(b) Stable nucl�us
(c) 
(d) 

Unstable nucleus 
') 

Unstable electronic configuration 
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20. £�$$ff 615bTU@T 6lJ ti) !!)I ro aa= rrutUJ LD 6ID � L J" rr 8j6l5) oo L<t6U $6(5) l)"UJ rr fb� 6r@ ?

(�) CH3N02 (�) CH3-CH-N02 

(@) 

CH3 
I 

CH3-C-N02 
I 

CH3 
Which of the following will not dissolve in NaOH? 

I 

CH3 

(a) CH
3
N0

2 (b) CH3 -CH-N02 

CH3 
I 

CH3

(c) CH3-C-N02 (d) CH
3
-CH

2
-CH

2
-N0

2
I 

CH3 

21. £LaLrr6i!Tlro1@�@ a=UJa@Trr6ID�Lrfl6irr �@6lJff�Q) 6TfbfD® 6r(bl�@$$ffL(bl ?
( �) 6TGU$LIJ"rr6irr 8l6lJrr aa:rrm6l5)8l ( �) Bl@Bl6lJrr aa:rrs;6IDB;
(@) 8iQ!)$Bl6lJIT u�ro@ (r-r-) 6TGU$LIJ"rr6?IT Bl6lJIT u�ro@
The formation of cyanohydrin from a ketone is an example of:
(a) . Electrophilic addition (b) Nucleophilic addition
(c) Nucleophilic substitution (d) Electrophilic substitution

22. �®J61Sl6?IT 6TGU85LIJ"ff6?IT JnffLLLD :
( �) �®6lJ �w�L6br aJnfr66lffi)�� Gf£rrLrrt_t6?nLUJ�
( �) �®6lJ �GITGttL6m" 6T�rr61Sl$lfb� GfbrrLITt_t6IDLUJ@
(@) �@6lJ �GTT6l5)6lJLJ Qurrroi�fb� �ru6U
( r-r-) @6lJrb.ro1ru 6r�GttuSlru6IDru
The electron affinity of an atom is
(a) directly proportional to its size
(b) inversely proportional to its size
(c) is independent of its size
( d) none of these

23. 6r��ro16m" $]66)GTT$8lffrolrol@�� GLrrlG06irr �Gm"Lff8>$ ���61.l� :

( �) �tq-uL5ls; �uSl6ULD ( �) �rrrol85 �rflrol
(@) GLrflf£rrrola; �uSlGUL.D. ( r-r-) �a;a=rrro185 �uSl6ULD
Ethylene glycol forms terylene with
(a) Adipic acid (b) Phthalic anhydride
(c) Terephthalic acid (d) Oxalic acid

' 

 I 
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· 24. �6m!D G&JLJU JB10nruu5lru }BITU)L.0rf85 �GTTGIT �Grurr85LD :
(�) Q�ffU)rT6miWL.O (�) c@6irn"fk}WLD 
(@) 85rr6151wLD (FF) �rr615lwLD 
The metal which exists as a liquid at room temperature is : 
(a) Germanium (b) Indium
(c) Gallium (d) Thallium

25. aru � 58=U) }Bl 0i)Q) u5l 6irr � 6bT 0n U) :
( �) c@Wffi1(§5 5U)l5l6mru
(@ ) �6NWJ uSl 6l) 0i) 6l) 

State of chemical equilibrium is :
(a) Dynamic
(c) None

(�) }Bl6m6l>WrT6lIT� 
( FF) c@IJ 6irn"r(bl LO 

(b) Stationary
(d) Both

26. .il!D[B� Qruuu U)_IDWJLD u5l6b-r 85L����!D6ITT Qc95rr6mff"L Uli}85f6.J85GTT :
( �) �w6mlu ULq-85ffiJ8561T ( �) �Q)8;Bfil.WJ Uli}85ffiJ85GTT 

The crystals which are good conductors of heat and electricity are : 
(a) Ionic crystals (b) Molecular crystals
(c) Metallic crystals (d) Covalent crystals .

2 7. �6ml U) ffi.18:iGTfl 6bT �®ru rr �61516bT � LL 85 Lk}6l> rr �.ID !Drol 6bT U)� u �8:iGTT : 
(�) ��85L.0 (�) (§6m!D� 

' (@) kbffi� W LO ( r:F) u5l858J (§6m!D� 
Standard free energies of formation of elements are taken as: 
(a) High (b) Low
(c) Zero (d) Very low

28. aA ➔ bB, 6r6ITT!D 6616m6lITu5lru, A-u5l6b-r Q5!]5)� @®LOLIBJ8:irTc9>(§LD �urr�. 6616m6lITu5l6b-r
aru85LD j5IT6ITT(§ U)Lr6.J85rr$1!D�- @QJG1Sl6m6lITu5l6of aru85L.O :

(@) k[A]¼ (FF) k[A] 
For a reaction : aA ➔ bB when the concentration of A is doubled. The rate of reac:tion 
is increased by four times. The rate of the reaction is: 
(a) k[A]a (b) k[A]½ (c) k[A]Ya (d) k[A] .

6033 
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29. qrui.:... e:rn.ouli" (!P6l5>!!)�ru S0
3 

�®<@.Hr®LD @S16l5>6lIT�ru �ooLrr®LD @6l5>L�6l5>ru5'Oe:rn.oLD :(�) NO (�) N02 (@) S02 (FF) 02
I     . The intermediate compound produced in the formation of SO3 by lead chamber process .- -- ·

• I 
IS: ('j1) NO (b) N0

2 
(c) S0

2 
(d)

30. 1w.$1E6m°L6U/D!!)J6Tf 6UQS'l�LD uSld;a; �uSlrut.b :(�) CICH2COOH (�) Cl3CCOOH 
I (i) CH3COOH (r=F) Cl2CHCOOH Almong the following the strongest acid is (J) CICH2COOH (b) Cl3CCOOH(d) CH3COOH (d) Cl2CHCOOH

LI@jj - II/ PART- II (i) 6)"a��ili U�6lD6lST!f>� GlSl6lITrra;a;�a;® @Sl6l5)LUJ6ffla;a;� LO. 15x3=45 1 '• � (ii) �ru G ru rr@ @516lITrr6lSl PJ® LO �6irrg).I � ruru� c@ir�® ru rr a;$} lLl IB.J a;Gffl ru . ··_@516l5) LlLJ GIT) c$8., � LO.
Note : (i) Answer any fifteen questions.(ii) Each answer should be in one or two sentences.
31. 6UB>LIJ"rr61rr �d)!I)rol6hr 6r�rra;®�u5l61rr @B>c$llLl��rutb lLlrr� ?at is the significance of negative electronic energy?
32. �\urrLLrr.illLlLD �lLJ6mlu.96hr (K + ) LD6l5>!I)��ru L.Orrp5)6Dl 11.25, ��6hr �a;ir �@<Sa;®L.616hr 8r6l5) LO 6l5) lLl cS a; 6lITT a;c$l (1) .sdreening constant of potassium ion (K +) is 11.25. Calculate its effective nuclear charge.
33. G;Ln: ... LirQ!j, LI i<J-IE lflJlD 6f QJ GU If !!)I Q LI !D LI LI@,$] !D� ? . . . . Hbw burnt alum is obtained ? 
34. Q � Llq-6m e!P6mt!)l U lLl 6m a; 6l5) GIT 6r @�a;.
{!] 

W[' ite any three uses of lead.
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35. 1.@rorrB=uir @._@ ( a;t.huQfl) 6f�!I)rrro 6fG?IT6m" ?

What is philosopher's wool ?

3·6. aurrli-aLrrBi c$Q)6lf)6lJ 6r6i5TU� GT6?IT6m" ? ��6irr UllJ6lST UJrr� ? 

\'Vhat is called Bordeaux Mixture ? Mention its use. 

37. @"5iftLU6lrrl@ �c$@l.O �Le$@ @S)6lS)6lff6lf)lLJ GlSlGTTdi@).

Write the nuclear reactions taking piace in the sun.

38. QS)L.iftLUQO ��Q)6lf)l.D 6r6?IT!I)ITQJ 6r6?IT61IT?
What is a vitreous state?

39. Qruuu c@UJ8ic$e6\UJQ) @IJOOLITU) 6151��6lrr Gc9>6\l66l6irr - t.5lGTTrrffi.lB> 8in.!!)6iO!I)� �@Bl.

Give Kelvin-Plank statement of second law of thermodynamics.

40. � '6irrru ® LO B=LD J6l 61D ru Gnl 6iO 61IT a; �di(§ 6l.D JB16iO ru 1.0 rr!]Slrol a; �Bid> rr 61IT 5 LO 6irru rr® B>6i0 m
6f@�-

(a) 

(b) 

(c) 

� H20 + ½02 
(g) (g)

N204 � 2N02 
(g) (g)

Write he equilibrium constant for the ollowing 

(a) 

(b) 

(c) 

� H20 +.½02 

co·+ H20 
(g) (g) 

(g) (g)

�CO2+ H2 
(g) (g)

� 2N02
(g) 

6033 
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41. �®tt�®�� �ln@I.O GBl6ID6oT 6r6?il,(DrTQ> 6r6?il6oT ? 6f@��8,l£rTL@ �@jln.

What is consecutive reactions ? Give example.

42. (Y)�GU ru 6IDl£ @Sl 6ID6oTu5l 6irr @Sl 6ID 6lIT(]QJ l£ LO rr!]5l rol � 6?il LO� u LI 1.54 x 10 -3 sec - l <or� ru,

� 66) (JQJ rrw6LJ l£ fTQ)�6'6)�8; l£6151IT Bi£\@.

The rate constant for a first order reaction is 1.54 x 10-3 sec-1 .   Calculate its half-life
period.

43. c$6'6>rJLIUrr6?il eor�rr Bin.WLOffilc$W 6f6?il"U6ID6tJ UJrr6ID6U ? �@��BidirrL@ �@d.

What are lyophobic colloids ? Give an example.

44. 6tJ6IDIJlUWJ - (]LDrrrurrrr diL�� �!!)6b1, ��615T �Q)6'6)c$ @5!)51LIL5l@di.

Define molar conductance. Mention its unit.

45. d, I LDWIDJLD L.D(]a:rr LrrfrLmf18ii �uSlru��6irr 6UrrUJurr@ ( Lj!!)Gl6UG1fl �6IDLDLIL...j) �@di.

Write the formula (c:onfiguration) ford, I and meso tartaric acid.

46. 533 K Qru u u � 6IDruu516b tt\6ff1a=1Jrr6\S\ 6hl" LO� �B>a:rrrol 8> � uSl ru�� 6irr @S16ID6oT UJ rr� ?

What is the action of oxalic acid on glycerol at 533 K ?

47. <or�1£1ro6irr ttl6IDGIT8il£rr6IDQ) �LIT urrGiuurnf1c9; �uSlru��L615T QQJLJLJUU@��l.Oaurr�
�ln@LD �6ID6nl6IDUJ <or@�-

Write the equation for action of heat on ethylene glycol with cone. phosphoric acid.

48. aurraurrL 61Sl�6IDUJ 6f@�di.

State Popott' s rule. 

4 9. a; rrfru rr .il ro) c9; � u5l ru ffiJ 8'6ID GIT di diOOLp5l QJ � !!)di rr6?IT c@® � U:... 6tJ ffi6ID GIT� �®l£. 

Give two tests for carboxylic acids. 
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HN02 

A, B, ill!!)WJLn 'C' 6'6)UJ 8500L.(!)I. 

LiAlH4 > BEther 

Identify A, B and C. 

HN02 

11 

C 

C 

51. �JDLb �UJrr��85ro GT6bru6m·6LI UJrr6'6)6L) ? GT@��cE85rrL@ �@85.
What are auxochromes ? Give an example.

LI@)� - III/ PART -· iii 

®�UY : �6iJQ6Llrr@ �rf)@Slro"l@fr>�Lb (§6'6)!l)Jr>�UL.5U) c@® @Sl6?>TrrcE856o)6TT a�rrfr,G�®�� 

60,33 

6J(g�®fl.O 6JQ!} @Sl6?>TrrcE85�cE(§ @S)6'6)LUJGITlcE85Q..jLn. 7x5=35 
 . ' ' . ' 

Note: Answer any. seven questions choosing atleast two questions from each 
section. 

�rrl� -- � / SECTION � A 

52. 'd' �rr�L.LrrrolGbr 6L)�6L)ffij856<5)GIT @S1GTTcE(§85.
Discuss the shape of 'd' orbitals.

5 3. � W t.61 a6?>rrr Q 6L1 u u � (1'\ 8>85 QP6tn !D 6tn lLl @516LI rf) . 
Briefly explain aluminothermic process. 

'  

54. a ill rr 6?>f 6tn5 L. ill 6lrnl"G\Sl rol@Jl>� 6D rf Jl>�6tn 6?>r@856tn GIT GT 6iJ 6LI rf g)f L5l ifl � Q � (S\ u U rrli.J ?
Describe the extraction of lanthanides from  monozite sand.

5 5. @ 6tn 6l5bT � JD Gm L5) 6'6)6lrnl"LJ LjcE Q 85 rf GTT 6o>85 t6'l 6m" 85@� a85 rrro 856o> GIT GT@� 85.
Write the postulates of Valence Bond theory (VB). . ·· 1 • .  '  

[ �®LILJ85 / Turn over. 
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56. 

57. 

58. 

59. 

12 

I • . • ,:•  .- _'.. . . _" •  -
. 

�6i5TL...a1Jrn5lt61m 6l!Du�UJruL18im UJrrQ>ru ? , 
I , 

I
t are the characterigti� of enhopy ?

N204 � 2N02 aH= +59 kJ/mole; 
I 

(g) .• (g) < . • ·.  . . . 
J;rm!D �6o>6Mt61ru �@��LO LOJ!)Jr)ILO Q�uuJ616o>Q)�m 6lS)QOQT648i6o>W �6Urrl. 

I 
 

. 
,

. 
:  

 
' '   

. ' 

�tate Le-Chatelier' s. Principle; bi�cuss the-effect of pt�ss�re and temperature ori the.
£ollowing reaction. · · - · 

I 
-

. . N204 � 2N02 aH= +59 kJ/mole 

(g) (g),

imlUJ 6lS)Q)Q!T!J;�@ilD, slMQrrQIT 5k1i�s;�LD fl..Qfw aruwurr@s;'1T UJITQJQJ? . f • rerentiate sm1ple and Complex reactiops.   . . 
c$�c$8irf@ll.O uSlQT8i���QT uSlm �@���QD� 298 K--ru. 8i6m"c$£l@8i. 
I - . -·. - -

Zn/Zn2+ (i:1 = 0.1).//Cu�_+ (a = 0._0�J/<:;u.   ·_ - -
 ' '  

 .:. � (  • /o • 

E;
11

2+ / Zn = - 0.762 V 't 

E�u
2+ I Cu ·= +' 0.337 'v ,- .

. 1 .,' 

,: ,. , .  

Galculate �e potentic;ll of the following cell at 298 K 
I . . . .  .   : .  - __  - · - . : ,

2jn/Zn2+(a = 0.l)/ /Cu2+ _ (a = 0.01)/.CU: 

E0 

_  2+/ · = � 0.762V  Zn Zn 

E�u
2+ / Cu = + 0.337 V

. i 

I
I
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ulafl� � � ,/S�S'fl9N: .. c• 

60. iwc$8,�L 8,IJQ"ISf}8,�L6lIT QOL Gr��Q) F.FpjlT GJ"QJQJrrwi �Ql)QTLpfl�!D� ?
(a) H+ /H

2
0 (b} . PC1

5 

How does diethyl. ether react with the 'foilowing reagents ?.
(a) H+ /H

2
0 (b) PC1

5

61. �&1L.LrrQ>tq..Q>��Q) J1)Q>LQU@JI.O Gr61fllLI �Q)�ffQ) @)WJ8i85 QS)Q>QTt6)Q �Q>QT 
 .  ,    '    

QJ wl @66> J!)Q> ILi 6lSl QJ rr1.
Explain the reaction mechanism. of acetaldehyde involved sllll.ple aldol cortdensatjon. 

.  
-�   

 
,  ' ,  

62. Q>rr8iL9-8i �L.6)Q)�Q)� Qp;rr���Q) (Y)Q>!J)uSlQ) GJ"QJQ.Jrrw �UJrrrr18i.8i�_m.b ? _
• .  .  ; l _  • ,,•  , •_   _  t 

How is lactic acid manufactured by/ermentation method·?. · · ·. ·

63. £w8i8,��ruwQO!D GlS1'1TT8i®85�.  
(a) �L.6lru �8i�85ro
Write short notes on :
(a) Antacids · (b)   Analgesics

 LI®' - IV/ PAR _· IV
®J6hj4 : (i) GLOrr��Lb Jf>ITffl(!) 6lSlmrr8i'9i.�8i@) GlSlQDLlUml8i85QjLD. 4x10=40

(ii) 6lSl61Jfrr' 6r6ffirr 70-B>®. c$LLIl1HDIT�' �Q)LUJ�8i8,LJULQ) aru�@ili.
I.O�(Y)6'TGTT GlSlmrr8i856fflQ> . 6](;��ili . ·-eyHrirrD)J' • GlSlQTrr8>��8i@>

Note:
GlSlQ) LUJml 8;8,� u:>.

(i) Answer four questions in all.
-(ii) Question m.unber 70 is compulsory and answer any three from the remaining

questions.

64. ( �) 6fQ)8iL.IJffQIT t$QJIT�JD®J8iBiffQT (Y)¢18i�QI ���L.�L GlSlrurr1. ��QIT &1wu�
LD!Dn)ILD @>Q>!I)QOILIBi @rolu�@Bi. . -.-

( �) s;�aRITrrtq..QOtu �rrl��� � ;®m)wy, ��II�-
.(a) Explain Mulliken' s scale of electronegativity � Mention its advantage and

. disadvantag�. · · 
(b) Write a short note on Etching 011: glass.

https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click


6033 14 

65. (�) [Co(NH3)5Cl] 2 + <or6l5T!!) �6l5)�6ljB=a5rrLD��!D® �1@51"6l.1(!9Q.16l5T6l.l,ID6l5)!!)c9>
(§!}5lc9>a;� LO : 
(i) IUPAC GuUJrr
(ii) 6l5)l.DUJ �aQ)rrei; �UJ�
(iii) FF�B;GTT
(iv) �615)�� <or6m"
(v) ru tq-ru LO

( qb) a;�rflUJ858J �a5rraLrrL.Jqa;6lf16i5f LDQ!j��6l.J UUJ6m8J6l5)GfT. 6r@ii85. 
(a) For the complex [Co(N�

3
)5Cl]2+ mention :

(i) IUP AC name
(ii) Central metal ion
(iii) Ligands.
(iv) Co-ordination number
(v) Shape

(b) Mention the medicinal uses of radioactive isotopes. 

66. (�) L5lirrr85 5L.D6mUrr® 6r6m!!)ITQ) GT6m6l5T ? ��6irr (Y)c9>tElUJ��6)J�6l5)� @SlGITd>@)85.
( qb) G>5l 6l5)6?5fcg6U a; LD rr.ro !]5l u5l 6irr Q u rr � ru rr 6l5T §1 !Du L5l UJ ru Lt a;Gir UJ rr 615) ru ?
(a). What is Bragg's equation ? Give its significance. 
(b) What are the general characteristics of catalyst ?

67 ( �) Q�6m"LIT51@51" 5LD6mUITL.6l5)L 6UQ!j@Sl. 
( qb) EMF-85@)LO, a;L.tq_Q)rr qb!!)!D@).185@)LO �mm Q�rrLrr6l5)U ru®@Sl· 
(a) Derive Henderson equation.
(b) Derive the relationship between EMF cµ1d free energy .

 .l, 
,, I  

68 ( �} 6l5)L@)aGITrralJrr Qu6irr9�ru. a;rr�u_u@Lh 'LDrr!!)!]5lUJ.ffiJ8'GTT U),IDIDJill �6U!!)!]5l615T 
�®(Y)6l5)6l5T -��uq��!D6irr rurfl6l5)56l5)UJ �@�85.

( cqb) � 6irr ru ® l.O � 615) 6l5T 8;615) ro u u !D !}51 61 IDJ ® !]5l u q ru 615) 1J a;. 
(i) (ga; IT Q) L5) 6&f u5f 6i5f 6l5TIT!!) U@) l.J q @516m 6nT
(ii) HVZ - @51615)� 

(iii) o

0ol.JITLQ) cEll)ITLJL....00 �51L.6l5)LaQ)!!)!DLO 
(a) Write the p9ssible isomers of dichlorobenzene and their dipole moment.order.
(b) Give a brief account of the following :

(i) Kqlbe' s electrolytic reaction
(ii) HVZ reaction
(iii) Friedel Crafts Acetylation ·
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69. ( �) 8iW858irf®JLO LOrfj!).(Dffi.18iGTT GTQJQJrfID] �6.iW��uu@£16isr.(D6lST ?
(i) . @)aGTTrr�l)"rr Qu6iff86ifr ➔ ��Q)}6ifr
(ii) �6lrrlrol6irr ➔ �c°ou 8irrryili
(iii) Q u Qfr 86irr 615) LUJa6rr6lrrl llJ Lb (§aG1Trr6ID rJ@ ➔ 615) u � 6[)QITQ)

( �) Q u u 6ID L@ � 6l5)6l51ITLJ LI GT Qfr.(D rrru 6r 6irr 6m ? 6r(1'\�§] 858; rrL@L6irr 6l5l m 85(§6.i. 
( a) How can the following conversions be effected ?

(i) Chlorobenzene ➔ Aniline
(ii) Aniline➔ Schiff's base
(iii) · Benzene diazonium ·chloride ➔ Biphenyl

(b) What is called peptide linkage? Explain with example.

70. ( �) 6.irrho a61TLOLO 'A' GT6?ITU� C7H50
3
Na GT6m"!I) e!J)GU858in.!l)l 6tl rrti..t � rr(b) G6.irrOOL

J�rrrol85 �uSlru��m (]5rriq.UJ �LJL.j. a61TLOLO / A' - 6IDUJ aB=rrLrr 8r006lrn"frfLOL.jL6m" 
Qruuuuu@��uu@Lbaurr§J C6H60 GT6lrr.(D (Y)GU858in.!9) 6)JrflUUrr@6IDLUJ 'B' 
�@6tl'rr£l.(D§J _. @§1 JB{b)�66>GU Qurrrfl85 (§aGTTrr6IDrJ@L6irr ��rr �!I)�66>fE� 
fE®£l!D�- a5rrLOLb 'B' aB=rrtq.UJLO 6l5)�LrJIT856IDB=°@ @6lrr6lIT16IDruu5lru C6H

5
COC1 

. �L6n"f 6l516ID6<ITL.jrrlfe� 'C' GT®Jl.D GTGYUL6IDrJ� �®£I.ID�- A, B, LO!I)WJLO 'C'-6l5)UJ85 
8iOOL!)51 �� 6l516ID6<IT 6.i6IDGIT 66\ GIT 85(§8i. 

(�) IA'' GT®JLO LO(§B=GTT �!D �arurr6.iili @rJIT��rJIT6t18i��Q) 6.i6mrJUJd> 8in.Lq-llJ�.
@��(]rurr8i�:$l6irr QJ@J858il.JUL.L �rr� P,rr�� KCN -�LGb"f 66'l6ID6m Ljrrl�§J. 
B GT®JLO $6IDrJUJ858in.lq-llJ �6l5)QM�5 aB=rrL0�6l5)� �®£l!D�- @6a5rrLDili 
B �ffi.185 �®L6irr rol6l06oT�rft�§J. LO!i>G!DIT® �66)��5 a'B=rrLDili c 6l5)UJu..tLO, 
�LQS"r �arurr6.iLO A - 6l5)UJl.LILO �®£I.ID�- A; B, LD!!)!l)JLD C-6IDUJ85 8i�L!)51jt� 
GlSl 6l5)6of 8i66>G1T, GlSl GTT 8>@>8i. 

�6\)6\)� 
(@) C3H60 <or6m"!I) e!J)GU858in.ID! QJJrUJUrr@. �6l5)LUJ 8irflLOa= a61TLOLD A �GUJrrLUrflTLD 

66l 6ID6oT 85(§ �Lu@£\ !D§I · C
7
H

6
0 fc)f 6m!D e!J)GU858in.IDJ ru rrti..t u rr@6ID LUJ (]51rw LO 

B 8i6�� urr�rnb Qe.;rrL..6IDLu5l6irr GTOOGQ'IITLLI <ofQITUU@£l.ID�- aB=rrLO'LD -A, B 
�L6hr 66l66>6<ITL.jrfl�� C

1
0H

10
0 GT®Jt.n e!:J)GU858in.!9) rurrti..turr(b) Q8.irr6l5l!TL 

�6ID!D61.l!DIT aB=rrLOL.O 'C' 6l5)UJ� �®£1·.ID�- aB=rrwili B �rfl iq.@51" @@51"�6l5)Q)u5lru 
L.O(]ru rr6Nl85 � u5l ru�� L6irr 661 �>6lSTLI rfl �� C

9
H

8
0

2 GT®J, Lb �GU858in.IDJ 
rurrti..turr(1'\66>LUJ �6ln!D61.l!DIT �u5lGUib 0-6IDUJ� · �®£Irr>�- A, B, C LDjDWJLD. 
0-6ID UJ85 6.i�LjD) �§) - 66\6ID6cIT 6.i6IDG1T 66) blf $(§6.i.

(FF) �® 8ilTLJUIT 8in.WL.O LDLLrflru 50 t.6lrurol �U)�UJrr u5l615ra6m"rrLLLD 60

JBl t.61 Lffi.16.iGTT _QB=W��l.J u@iliau rr� Q) wu lq-Gtl ff (§LO 6.iJf LJ u rf)@rr �61T6l5)Gl.JB,

 $6"®r85£l(bt 
. 

11J- [ �(�LIL.j8i / Turn over
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(a) An organic compound' A' is a sodium salt of phep.olic acid with molecular formula
C7H5

O3N a. 'A' on heating with soda lime gives compound 'B' of molecular formula
C6H6O. 'B' gives violet co�our wifu ne�tral ferric chloride. 'B' on treatment with
C6H5COC1 in the presence of NaOH gives an ester 'C'. Identify' A', 'B' and 'C'.
Explain the reactions.

(b) 'A' is a yellow coloured metal soluble in aqua regia. The roasted ore of this metal 
reacts with dil. KCN to form a soluble complex 'B'. This complex 'B' reacts with 
Zinc dust to form another complex 'C' along with the metal 'A'. Identify 'A', 'B' 
and 'C'. Explain the reactions. 

OR 

( c) An organic compound A of molecular formula C3H60 answers iodoform .test.
Another organic compound B of molecular formula C7H6O is known as oil of
bitter almonds. A reacts with B to form an unsaturated compound C of moleaular
formula C10H10O. Compound B reacts with malonic acid in the presence of
pyridine to form an unsaturated acid D of molecular formula C

9
H

8
O

2
. Identify.

A, B, C and D. Explain the reactions.

(d) If 50 milliampere of current is passed through copper coulometer for �Q mip.utes
calculate the amount of copper deposited.

-oOo-
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